More Complete Punnett Squares
1. Widow’s peaks are a dominant trait.  A man with a widow’s peak has a baby with a woman who is homozygous dominant.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has widow’s peak?

e. What percentage of their offspring has no widow’s peak?

2. Dimples are a dominant trait.  A homozygous dominant woman has a baby with a heterozygous man.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has dimples?

e. What percentage of their offspring has no dimples?

3. Attached earlobes are recessive.  Two heterozygous people have a baby together.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has unattached earlobes?

e. What percentage of their offspring has attached earlobes?

4. Cleft chin is a dominant trait.  A heterozygous man has a baby with a woman with a cleft chin.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has no cleft chin?

e. What percentage of their offspring has cleft chin?

5.  Being able to roll your tongue is a dominant trait. A homozygous recessive man has a baby with a woman who cannot roll her tongue.

a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring can not roll their tongue?

e. What percentage of their offspring can roll their tongue?

6. Crooked pinkies are recessive.  Two people who are heterozygous for straight pinkies have a baby.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has straight pinkies?

e. What percentage of their offspring has crooked pinkies?

7. Hitchhiker’s thumb is recessive.  A woman with a hitchhiker’s thumb has a baby with a man who is heterozygous for the trait. 
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has regular thumbs?

e. What percentage of their offspring has hitchhiker’s thumb?

8. Freckles are a dominant trait.  A man with freckles has a baby with a woman who is heterozygous for the trait.
a. What is the phenotype of the parents?

b. What is the genotype of the parents?

c. Complete the Punnett Square.

d. What percentage of their offspring has freckles?

e. What percentage of their offspring doesn’t have freckles?
